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Skills & Objectives

Lower Foundation Phase:
•	Count reliably up to 10 objects.
•	Read and write numbers to at least 10.
•	Compare and order numbers to at least 10.
•	Combine two groups of objects to find ‘how many altogether?’


Upper Foundation Phase:
•	Count sets of objects by grouping in 2s, 5s or 10s.
•	Use doubling and halving within 20.
•	Recall and use 2, 5 and 10 multiplication tables.



Lower Key Stage 2
•	Use mental strategies to recall multiplication tables for 2, 3, 4, 5, 6 and 10. 
             Use to solve problems.
•	Multiply numbers by 10 and 100.
•	Use mental strategies to multiply 2-digit numbers by a single-digit number.


Upper Key Stage 2
•	Use mental strategies to recall multiplication tables up to 10x10. 
            Use this to solve problems.
•	Multiply numbers and decimals by a multiple of 10.
•	Multiply 2 and 3 digit numbers by a 2 digit number, including decimals.








Lower Foundation Phase – Early number concepts

Learning numbers to 10

· [image: http://www.creativeacademics.com/images/lfv22703.jpg]Number songs and rhymes
E.g. 1,2,3,4,5 once I caught a fish alive.
Five little ducks.
Five little speckled frogs.
10 green bottles


· Counting up to 10  objects
Counting linked to topics or books.
E.g. How many stars in the sky?
How many flowers?
How many sheep?
Counting blocks and other classroom items, counting claps, counting steps etc

· Recognising numbers to 10
E.g. Reading numbers in books and interactive resources.
Looking for and identifying numbers in the environment inside and out E.g. signs, posters etc.
Number games E.g Hopscotch, IPad Apps, online games and interactive resources.

· [image: Image result for matching numbers to quantities]Matching numbers to quantities
Gather sets of items  E.g. find 6 blocks, collect 8 dinosaurs etc
Representing numbers using blocks, beads, toys etc


· Number formation and writing numbers to 10
Practice the formation of numbers using whiteboards,
 the sand tray, shaving foam, paint, chalk, pencil, ipads. etc
Making numbers using playdough.

· Comparing and ordering numbers
Using big number cards, magic number stick, puzzles etc.

· Adding numbers within 10
Counting groups of objects to find out how many altogether.
Complete simple addition sentences E.g. 3 + ? = 8




Upper Foundation Phase – Doubling & halving

· Doubling and halving function machines
[image: https://www.planbee.com/media/catalog/product/cache/1/image/1200x/040ec09b1e35df139433887a97daa66f/d/o/doubling-and-halving-maths-lesson-5-06.jpeg]

E.g I put 5 in the machine. The machine will double it. What number will come out?5






· Relating doubling to repeated addition. E.g double 4 = 4 + 4, double 5 = 5 + 5

[image: Image result for matching doubles to halves]	






· [image: http://images.slideplayer.com/9/2358623/slides/slide_9.jpg]Double towers – cubes, multilink, unifix cubes
 
E.g. Make one tower with cubes.
       Build another tower the same size.
       You now have double to cubes!
                



· Double dominoes

[image: Image result for double dominoes]
	                                 E.g. Count one side. How many?
                                                                                               How many altogether? double 3 = 6



· Double ladybirds
[image: https://dryuc24b85zbr.cloudfront.net/tes/resources/6332899/image?width=500&height=500&version=1421762958625]
E.g. How many spots can you see?
       Double my spots to see how old I am!


Upper Foundation Phase – Early multiplication
Recognising multiples of 2, 5 and 10.
· [image: https://s-media-cache-ak0.pinimg.com/236x/ae/36/41/ae364172566871a306653f169162bde0.jpg]Using a 100 square to look for patterns

Counting on and back in 2s, 5s and 10s.
· Using a number line, bead bar or counting stick.
· Ordering multiples.
· Counting to find the next multiple in the sequence.
[image: Image result for counting 2s on a numberline]






Learning 2s, 5s and 10 times tables. 
· Sing along to songs and rhymes – E.g Download the Percy Parker App or watch his ‘Times Tables Band’ on YouTube. 
· Rapid recall of times tables facts – quick fire questions.
· Using and applying knowledge of doubling to answer 2x table questions. 
· Using and applying knowledge of repeated addition to answer multiplication questions.    
[image: http://www.education-today.co.uk/wp-content/uploads/Percy-Parker-iPad.png]








Lower Key Stage 2 – Mental strategies to multiply

· [image: Image result for doubling diamond]Doubling diamond to multiply by 2
E.g.  24 x 2 = 48
Step 1 - Double 4 = 8
Step 2 - Double 20 = 40
Step 3 - 40 + 8 = 48

· Multiplying by partitioning
E.g. 12 x 3 = 36                                                                                               E.g. 46 x 4
	x
	40
	4

	4
	160
	16


Step 1 – Partition 12 into tens and units. 
                Tens = 10                 Units =  2
Step 2 – 10 x 3 = 30	    160 + 16 = 176
Step 3 – 2 x 3 = 6
Step 4 – 30 + 6 = 36
· [image: Image result for multiplication arrays]Visualise and describe multiplication as arrays





· Use knowledge of place value to multiply by 10
[image: Image result for multiplying by 10]


Lower Key Stage 2 – Informal Written Methods TU X U
	x
	40
	4

	4
	160
	16


· [image: ]Grid Method
E.g 44 x 4                                                                            E.g. 47 x 4                      
                                                       160
       +   16
           1 7 6


· Expanded Method
[image: ][image: ]E.g. 23 x 4                                                                                                     E.g. 47 x 4




· Compact Method
[image: ]E.g.  47 x 4                                                                                         E.g. 38 x 6                        
[image: ]



Upper Key Stage 2
Continue to use rapid recall and mental strategies to support written methods with an increasing number of digits extending to decimals. 

· Using knowledge of place value to multiply decimals by 10 and 100.
[image: ]
Upper Key Stage 2 – Informal written methods TU X TU / HTU X TU
· Grid Method
 
[image: ][image: ]E.g 14 x 19                                                                                  E.g. 427 x 17









· Expanded Method
E.g. 14 x 19                                                                                E.g. 372 x 24

[image: ][image: ]








· Compact Method
[image: ][image: ]E.g. 14 x 19                                                                                E.g. 372 x 24
















Upper Key Stage 2 – Multiplying decimals
· Grid Method
E.g. 9.4 x 6                                                                                       E.g. 3.64 x 7
[image: ][image: ]






· Expanded Method
[image: ]E.g. 9.4 x 6                                                                                       E.g. 3.64 x 7
[image: ]






· Compact Method
[image: ][image: ]E.g. 9.4 x 6                                                                                       E.g. 3.64 x 7





Using and applying multiplication to solve problems
Problem solving and reasoning is taught alongside all mental and written methods. 
Examples:
· [image: ]Year 2









Exemplar answers:
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· [image: ]Year 3









	


Exemplar answers:
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· Year 4
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Exemplar answers: 
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· Year 5
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[image: ]Exemplar answers:




































· Year 6
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Exemplar answers:
[image: ]
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What will the output be?
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Build a tower the same as the one you have already.
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How many spofs can you see?

Double my spots to see how old T am.

How old am 17
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MULTIPLICATION : Year 6

If at any stage of teaching written methods of calculation for multiplication pupils make
significant errors, they should be taken back to the stage in which they could perform the

calculation accurately and with confidence.

+ Use informal pencil and pape|=
« Develop and refine efficient v|
‘approximation (HTU X TU/ D/

NB The exq

Pre-requisite mental skills and strategies

Recall of multiplication facts

(DMS p. 153 - 158, 301 - 303, 397 - 398)
Revise and consolidate multiplication
facts up to 10 x 10, including multiplying
by 1and 0 (See Year 5).

Multiplying by 10 and 100
(DMS p. 200 - 212, 272, 403 - 410)

- Revise multiplying single-digit numbers
by multiples of 10 and 100.

Multiplying decimals
by 10 and 100
(OMS p.200,211,212,272)
Multiply numbers with 1 or 2
decimal places by 10 or 100.

eg. 145x 10 = 145
30.8x 10 = 308
7.05x100 = 705
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+ Develop and refine efficient written methods that can be applied generally. Pupils should make an
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